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Name:        Period:   Date: 
Unit 8 Spiral Review 
 
1.  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
2. What is the solution to the system of equations shown? 
 

�2𝑥𝑥 + 𝑦𝑦 = 4
𝑦𝑦 = 𝑥𝑥 + 1 .  . 

 
 
a. (1,2) b. (2,1) c. (-1,2) d. (1,-2) 
 
 
 
3. Which inequality is equivalent to 6𝑥𝑥 − 2𝑦𝑦 ≤  −4 
 
a. 𝑦𝑦 = 3𝑥𝑥 + 2  b. 𝑦𝑦 ≤ 3𝑥𝑥 + 2  c. 𝑦𝑦 ≥ 3𝑥𝑥 + 2  d. 𝑦𝑦 ≥ 3𝑥𝑥 − 2 
 
 
 



4. . The relationship below shows a direct variation. 
x y 
4 16 
5 20 
6 24 
7 28 

Which equation best represents this relationship? 
 

a. y = 5x – 4  

b. y = 1/4x 

c. y = x + 11 

d. y = 4x 

 
5.  
Alex wrote these steps when solving an 
equation. 

Given:              – 4(–3x + 2) + 6x = 10  

 

Step 1:   12x – 8 + 6x = 10 

 

Step 2: 12x + 6x – 8 = 10  
                                                                                                              

Step 3:  18x – 8  = 10  

                                 +8     +8  

 

Step 4: 18x = 18                     
18       18 

 

Step 5:  x = 1 

Choose from the properties below to answer the following 
questions about Alex’s work:   

Associative 
Property of 
Addition 

Addition Property of 
Equality 

Distributive 
Property 

Division Property 
of Equality 

Commutative Property 
of Addition 

Transitive Property 

 

1.  Which property justifies the work between 
 STEP 1 AND STEP 2? 

 

2. STEP 3 AND STEP 4? 

 
3. STEP 4 AND STESP 5? 

 

 

 



6. Point A (-2, 2) lies on a line that represents a direct variation equation.  Plot THREE 
other points on that line.   

 
 

 
 
 
 
 
 
 
 
 
7. Choose the system of inequalities that best matches the graph. 
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8.  Which equation best represents the line shown?  
 

 

 

 

 

a.  −3𝑋𝑋 + 2𝑌𝑌 = 2  b.  −2𝑋𝑋 + 3𝑌𝑌 = 2 

c.  −2𝑋𝑋 + 3𝑌𝑌 = −3  d.  −3𝑋𝑋 + 2𝑌𝑌 = −3 

 

10. What are the x- and y-intercepts of the line 

with the equation, 4 2 12x y− = −  ?  

 

a.  x-intercept −3, y-intercept 6 

 b.  x-intercept 2, y-intercept 12 

 c.  x-intercept −6, y-intercept 3 

 d.  x-intercept 6, y-intercept −3    

 

 

 

 

9.  In which table of ordered pairs does  

n vary directly as m? 

A:  

 

 

B:  

 

 

C:  

 

 

D:  

 

 

 

11.  What is the slope of the line that passes 
through the points (5, 2) and (1, 1)?        
 

       a.  4   b.  
1
4

 

c.  4−   d.  Undefined  
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